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Puzzle Test Questions for SBI PO Pre, IBPS PO Pre, IBPS Clerk Mains and 
SBI Clerk Mains Exams. 

Set No 118 
 

Directions: Study the following information carefully and answer the questions given beside: 
 
Six persons – Manjit, Gaurav, Dinesh, Prakash, Joshi and Sinha, live in different flats – 101, 102, 103, 104 and 
105 of a building but not necessarily in the same order. Each of these people works in different company – 
Infosys, Oracle, Wipro, TCS, Accenture, and HCL. At least one person was living in each flat. 
  
Dinesh, who lives in flat 101, works in Oracle and her flat mate Joshi works in HCL. 
Manjit lives in flat 102. 
Sinha works in TCS. 
Prakash, who is lives in flat 103, does not works in Accenture. 
Gaurav, who does not work in Wipro, lives in flat 104. 
Manjit does not work in Accenture and TCS. 
The one, who lives in flat 103 works in Wipro. 
 

1.  Who among the following works in Infosys? 
I. Manjit II. Prakash III. Gaurav 

A. Only I  B. Either I or II  C. Either II or III D. Only II  E. Only III 

 
2.  Who among the following works in Accenture? 

A. Manjit  B. Prakash  C. Gaurav  D. Sinha            E. Can’t be determined 

 
3.  The one who lives in flat 105 works in which of the following companies? 

A. Accenture  B. Infosys  C. TCS   D. Either TCS or Accenture  
E. Either Accenture or Infosys 

 
4.  The one who works in HCL lives in which of the following flats? 
 

A. 101   B. 102   C. 103   D. 105   E. Either 102 or 103 

 
5.  Find the odd one out. 

A. 102 Manjit Infosys B. 104 Gaurav Wipro C. 105 Sinha TCS D. 103 Prakash Wipro E. None of these. 
 
Correct Answers: 

1 2 3 4 5 

A C C A B 



 

 

Common explanation: 
 
Reference: 
Six persons – Manjit, Gaurav, Dinesh, Prakash, Joshi and Sinha, live in different flats – 101, 102, 103, 104 and 
105 of a building but not necessarily in the same order. Each of these people works in different company – 
Infosys, Oracle, Wipro, TCS, Accenture, and HCL. 
 

Inference: 
Here, we have the names of six persons while there are five flats therefore we can say that exactly two 
persons were living in one of the flats while only one person was living in each of the flats. 
 

We will keep this information in mind while solving the puzzle. 
 

Reference: 
Dinesh, who lives in flat 101, works in Oracle and her flat mate Joshi works in HCL. 
 

Inference: 
After using the above hints we have:  

Flat 
Person 

Company 

101 
Dinesh Joshi 

Oracle HCL 
  

At this point we can say that only one person was living in rest of the flats. 
 

Reference: 
Manjit lives in flat 102. 
 

Prakash, who is lives in flat 103, does not works in Accenture. 
 

Gaurav, who does not work in Wipro, lives in flat 104. 
 

The one, who lives in flat 103 works in Wipro. 
 

Inference: 
 
After using the above hints we have:  

Flat 
Person 

Company 

101 
Dinesh Joshi 

Oracle HCL 

102 
Manjit 

  

103 
Prakash 

Wipro 

104 
Gaurav 

  

105 
  

  



 

 

Reference: 
 
Sinha works in TCS. 
 
Manjit does not work in Accenture and TCS. 
 
Inference: 
 
After using the above hints we have:  
 

Flat 
Person 

Company 

101 
Dinesh Joshi 

Oracle HCL 

102 
Manjit 

  

103 
Prakash 

Wipro 

104 
Gaurav 

Accenture 

105 
Sinha 

TCS 

  
At this point we can say that Manjit works in Infosys.  
 

Flat 
Person 

Company 

101 
Dinesh Joshi 

Oracle HCL 

102 
Manjit 

Infosys 

103 
Prakash 

Wipro 

104 
Gaurav 

Accenture 

105 
Sinha 

TCS 

 

 

 

 

 

 



 

 

Answers : 
 

1. Following the final solution, we can say that Manjit works in Infosys. 
 

Hence, the correct answer is option A. 
 
 

2.   Following the final solution, we can say that Gaurav works in Accenture, 
 
Hence, the correct answer is option C. 

 

 

3.  Following the final solution, we can say that the one who lives in flat 105 works in TCS. 
 

Hence, the correct answer is option C. 
 
 

4.   Following the final solution, we can say that the one who works in HCL lives in flat 101. 
 
Hence, the correct answer is option A. 

 
 

5.  Following the final solution, we can say that Gaurav, who works in Wipro, lives in flat 104.. 
  

Hence, the correct answer is option B. 
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